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1 $HEE 5T oM7E
O cldl & 7=
(59): A, %)
Off AFH M Tof Ay HnEZ |T&=2
5 A F
(A) Lo (B) | (C=A-B) |(CBXI00
) Al 4,581,147,392(100.00]| 4,180,989,757|100.00| 400,157,635 9.57
el HE 3| A 4,050,168,700| 88.41| 3,715,186,668| 88.86| 334,982,032 9.02
S 5| A 530,978,692| 11.59 465,803,089 11.14 65,175,603 13.99
7| Et S 35| A 530,978,692| 11.59 465,803,089 11.14 65,175,603 13.99
O 2019¥= F=HESZ AYAMZE diket & 2= 4% 58119
47399 0 2 AWE oAkl 43 1,809 8,975%Hd thH] 9.57%<1
4,00197 5,7637+9-S = A HS
O YHks|Al= 4% 5019 6,8709t¥ o2 AHAWE thH] 9.02%<]
,3499) 8,2037F o] FHE AT,
O EW3IAE= 53099 7,869 o2 AUdE thH] 13.99%7F =3

651%] 7,5609H-S HA 3



2 BASFX|= LU H|
A ] Al AHD)
(9] 9, %)
. 0f At M S0 Ak HmEY | sz
AT (A) M| (B) My (C=A-B) |(C/BX100)
12 Al 1,177,658,406| 100.00 1,046,059,351 100.00| 131,599,055| 12.58
M 2l 971,714 0.08 1,013,228 0.10 A41,514| A4.10
BHxZ 1,095,247,053| 93.00| 961,999,332 91.96| 133,247,721 13.85
HEHTAS 81,439,639 6.92 83,046,791 794 21,607,152 A1.94
=X| d = 1} 525,111,621 44 59| 478,073,935 45.70 47,037,686 9.84
Ml el ¢l 950,714 0.08 992,228 0.09 A4 514 A4.18
HxF 442 721,268 3759 394,034,916 37.67 48,686,352 12.36
HMreds 81,439,639 6.92 83,046,791 7.94 A1,607,152) A1.94
= ol Zof ol 1t 590,273,195 50.12| 508,930,054 48.65 81,343,141 15.98
Ml 2| =2 21,000 0.00 21,000 0.00 - -
H2xF 590,252,195 50.12) 508,909,054 48.65 81,343,141 15.98
HAY A o} 59,489,531 5.05 56,284,397 5.38 3,205,134 5.69
B2xF 59,489,531 5.05 56,284,397 5.38 3,205,134 5.69
4| o| ok o™ 1} 2,784,059 0.24 2,770,965 0.26 13,094 0.47
BxF 2,784,059 0.24 2,770,965 0.26 13,094 0.47
O BEAEA I & 201995 Lt A M ddite 717 o 4t
el 12.58% FHg 1= 1,7769 5840%HdS AR 2 H,
ol FAHEE 4HtFA o4t FA 4% 5019 6,8707H <9
29.08%0 sFates FRY
O MY S Aund
- Ale59 0.08%, HEF 93%, BAFISHUREAY 6.92%2
T A



- B2 13 9529 47067 o2 HA% tjv] 1,3329 4,772
THA(13.85%) SHENeH, =8 W8S FARFT T TWEY

- AT SHEAY = 8149 39637t o= Hd% thH| 169
7157t (1.94%) A=Y o, F2 W& wSHISEIA

A& AHD
(el A9, %)

s 4 o m off Aol M T of Aoy HEEZ |38
(A) M| (B) M| (C=A-B) |(C/Bx100)
2 A 1,414,074,694| 100.00|1,257,459,722| 100.00| 156,614,972 12.45
=X| & & 1} 656,466,060 46.42| 593,731,444 4722 62,734,616 10.57
ol &kof ol 1} 676,355,338| 47.83| 587504,066| 46.72| 88,851,272 15.12
HAA &1} 77,877,794 5.51 72,826,807 5.79 5,050,987 6.94
Alo|okobX T} 3,375,502 0.24 3,397,405 0.27 A21903] A0.64

[& &

O XAEAZ &3 201995 APt A MEd4ete dds iy
12.45%%1 1,566 1,497%kdo] SdH 1= 4,1409) 74697 =
HAH oW, ol TAHEE AWt A o4t T 4= 5019

6,8705F4 2] 34.91%0l siZ3t= FRY

[ 22HREME MSLHY |
O EA33 34
- BEXA A= AdE div] 10.57%0 6279 34619+ S =
6,564 6,606% -?'_% AL,



- ARARE FUde e 28
BRI 23 FLAYE o4 =499 >

(F - A, %)
N Ae  AEE a4 SuEd |48
= (A) (B) (C=A-B) |(C/Bx100)
AE|SXA L BAKE SRIUIFH A77E 80,000 - 80,000 -
SEAESXEHE 2Y 263,364 254,219 9,145 3.60
A Feg 2P| X[ 85,533 77,000 8,533 11.08
ALBSX[AL B X2 60,000 48,000 12,000 25.00
ATt AS| SR SR AT X 4,500 5,000 A500[ A210.00
ALB[SXA|E MK} 9|2 128,000 120,000 8,000 6.67
ALB[SXAE SAKRL 2 X 320,400 298,320 22,080 7.40
A RS =XIAE 2GX| 2 71,400 72,780 A1380] A1.90
E=0lAAM 2| X[ 4,491,470 4,277,996 213,474 4.99
LR0IANA V|sEZ 169,125 297,552 A128427 A43.16
S 2AR 22 AL lAd] X[ 926,899 910,156 16,743 1.84
Zopte FSX|MH|A AKX 43,146 413,865 A370,719] A89.57
201643 2Hs =X[5Es5 15 427,050 854,100 A427,050 A50.00
SHS IS SX|ME 22X 587,681 547,000 40,681 7.44
ALB|SXA|E SAERL DA eled X 487174 412,121 75,053 18.21
AL XA SAEAL g2lEle] 29 129,000 113,000 16,000 14.16
AL S 2ME X2 AMY 7,310,000 4,293,000 3,017,000 70.28
X|dolsME! 2HX|H 7,463,794 7,054,944 408,850 5.80
FTX|otsMHE X[ 292,413 278,928 13,485 4.83
X|dotsHE 2td7iM X[ 672,000 - 672,000 -
X|dolsME] 2HX|A(XEA) 48,600 48,360 240 0.50
Ot =X WAL TpAX| 1,544,563 1,464,969 79,594 5.43
X|dotsHE! HItct 32,072 28,694 3,378 11.77
24 2| ZX[ A 25,043 31,679 A6,636] A20.95
Zofjots LLUE EXxF 43,120 32,833 10,287 31.33
k{772t BAK| 1,659 11,918 A10,259] A 86.08
ots LT X[ 575,910 583,736 ATB26] A1.34
eHESotsOEE 29X 1,050,588 745,729 304,859 40.88
otsAld V|sEZ 29,385 83,850 ANB4. 465 A64.96
F| A E otsSMH|A X[ 2,972,000 2,917,000 55,000 1.89
I f|Eots AellEdEE X 33,800 35,100 21,3000 A3.70
Ot K| 21 A =t 890,592 779,843 110,749 14.20




¥ o A [AATolM| ulusd | ZAE
(A (B) (C=A-B) | (C/Bx100)
23T Rots AEFE X F 522,796 - 522,796 -
PR B 2ME 29 511,951 462,191 49,760 10.77
Zoi7| 22y 247,401 240,193 7,208 3.00
OfsESME7 & ™A 8,600 - 8,600 -
ofsESHMEI | 2 1,796,772 1,662,146 134,626 8.10
=} siotselEe 2IX|HA 702,156 628,367 73,789 11.74
MotsHES 63,000 89,712 N26,712] A29.78
s=2 =X (EV]B) 4,750,000 4,180,000 570,000 13.64
35,390 36,760 N1.370] A3.73
JHg elEots AExE X[ 24,200 8,800 15,400 175.00
IAF M7HME] X[J 194,400 198,240 N3,840] A1.94
LS SAE M7HMH] XA 31,680 25,920 5,760 22.22
AL=S 11,400 14,400 A 3,000 A20.83
ots= 68,814,128 24,873,673 43,940,455 176.65
ots= 25,700 57,191 A31,491 AB5.06
dA o 46,802 - 46,802 -
NEE S EHOIE=AIAY) 21,840 - 21,840 -
=& F °| Et'| Nk 45,840 42,840 3,000 7.00
2= AaAtdd| x| 258,490 224,384 34,106 15.20
HECHH 24| 133,023 123,023 10,000 8.13
CHetol= UA|Y S Fr:.' 7| EAA 13,000 8,000 5,000 62.50
HECH 7| SsEZAIY 240,000 177,248 62,752 35.40
ZERSA flE2E 7Y 55,500 51,000 4,500 8.82
M FSA HolE X 1,141,680 - 1,141,680 -
==X = 4,565,000 3,850,000 715,000 18.57
HE5=S HO| ==X 3,868,211 2,651,000 1,217,211 45.92
HdEe=s (A2 A B) 645,678 525,000 120,678 22.99
M A F0q 142,453,812 142,699,138 N245326]  A0.17
olf & 1,354,858 952,001 402,857 42.32
N ) 10,297,377 8,509,278 1,788,099 21.01
PSEEPN = AT M 195,700 - 195,700 -
X =g 2,066,144 1,981,000 85,144 4.30
2o =gd| X3 515,000 505,000 10,000 1.98
gk 1,085,278 - 1,085,278 -
N T2 2{EFRE| 34,205 33,592 613 1.82




9 Mo [N LofAr%| B[aZ
(A (B) (C=A-B)

S| 7| 2 EAFA( 415,000 495,641 A 80,641
AR A 32T 2 1,544,360 2,194,734 A 650,374
HAS| YIS SEA 632,880 326,690 306,190
7| 2SEAS 121,000 176,754 A 55,754
TiARZ S g e 1,099,845 881,991 217,854
X AFALE| ME| A 143,700 - 143,700
2w olzid| 43,442 247 37,141,073 6,301,174
O2I0|& CHA mA} 2,584,000 1,435,926 1,148,074
Hzlo|R ExZWAL X 8,305,208 3,929,565 4,375,643
WAZ R etA 7 9,853,157 8,535,143 1,318,014
S& BEsuA £ 3,103,083 2,157,726 345,357
WA e XA 431,561 392,191 39,370
AEHEgy| XA 394,784 381,859 12,925
SO{E X Helolz 166,220 169,033 N2,813
ofZlo|d == 540,000 781,515 A241515
OofZIolFE 7|sEZ 788,724 595,785 192,939
IROIESE X|H 130,584,776] 120,260,860 10,323,916
shte 22 X3 10,452 11,402 A 950
ey 2Y 76,681,800 78,858,240, 22,176,440
M dsE XY 34,789,213 40,028,893 A 5,239,680
SHSCS0ISX|EMYH 2Y 310,100 310,000 100
AN ELH K] 36,332 35,746 586
7Hdd=AE X™-(E) 88,000 65,800 22,200
S5 SOISEX|HMH LAtz X|H 670,000 - 670,000
AENZREY B 71,470 69,648 1,822
20| w2k x| 76,090 79,970 A 3,880
2eolol = AL X|H 20,000 15,000 5,000
S30{2olY 2 3,896,518 3,217,500 679,018
Z3golzloln S| x| 8,400 9,600 A 1,200
ZHOHoMZOZI0IE 28 2lzdd| X[ 73,332 66,108 7,224
SOIS A HME AlZED X2 32,000 25,000 7,000
SOIS X[ HME AlZED MR 2Y 36,000 30,000 6,000
ozlo|R! R EHEH 2H 41,418 66,800 A 25,382
AR S E X A(E a2 X) 549,000 439,192 109,808
=M Helojzlo[H X 49,920 42,240 7,680




4o AT HAEONY| HuEZ |SHE

(A) (B) (C=A-B) | (C/BX100)

ojzlolx S7|8E7| 244 X¥ 194,159 - 194,159 -
O{ZI0|E oto|d=(EF) =Fo| X 471,710 - 471,710 -
UMY A2 X 544,176 - 544,176 -
IR H{SHIA HE= 39,039,597| 34,121,449 4,918,148 14.41

- wQlAelds AU oE) 1512%2) 8889 51279+ ol E

7 =7ro

o>
(&9 - A, %)

A A [Fesas) rlesy ) Sds

(A ®) (C=A-B) |(C/Bx100
Z2EX|7(0/ALY 804,780 - 804,780 -
429 Rl=s 758 A|¥ 37,413 36,720 693 1.89
=g Jdioha|(=58])x| | 4,256,000 3,759,602 496,398 13.20
= ABEISAIAY H7| o E 16,800 - 16,800 -
Y AX[YME 2 284,460 277,352 7,108 2.56
d2Y =3 =208 2|l XY 95,097 88,581 6,516 7.36
9988 A -=LtF+0| At 1,735,816 1,703,174 32,642 1.92
ceolsaMEls HEY | 29 62,274 - 62,274 -
b= LI E 7,195,619 4,817,500 2,378,119]  49.36
rolEad M| A(HFRA) 4,065,050 3,425,889 639,161 18.66
CE7| 7 A B A (HE2 X) 14,666 12,554 2,112 16.82
SRl TSI AlHA 276,500 197,500 79,000  40.00
Sl STl SFeFRIH A THED |2t 2 28,231 - 28,231 -
4ol S50l SueYdEME|A 531,461 542,224 210,763 A1.98
SESEolEEEA 2EXH 731,362 705,963 25,399 3.60
SEREolSE=EA HES 43,000 - 43,000 -
thetcols] S5t 2SI 258,383 243,211 15,172 6.24
IR | AfRA A E2EE, Ao 1271 7,048,200 6,001,680 1,046,520 17.44
RleKE| REARASAES, 0] P 3,034,786 2,856,684 178,102 6.23
LRIUAE| XIpAIRHEAES, Rl wig) 20,176,301 13,722,258 6,454,043  47.03
olAtel2sX| g3 utdd) 118,059 107,250 10,809 10.08




4o o [MEEOA| Husy | ZdE

(A) (B) (C=A-B) | (C/B100)

LolALE| &S K| (A EHE) 2,316,215 2,648,415 A332,200] A12.54
ERIAE S A (AR ME| A ) 3,205,601 - 3,205,601 -
OIS EEX| AT el |2t MEel) 2,047,360 1,384,254 663,106 47.90
EoIURE| HEV|Y ASHFT 14,620 14,800 A180]  A1.22
E57 OIAE oldxle] 3 Aol 4,000 - 4,000 -
I|E=AF 450,416,461 393,945,492| 56,470,969 14.33
CHetcels| AlZTK|2] A= 2PX(J 67,564 63,661 3,903 6.13
TAAA LXK HALS 900,000 882,000 18,000 2.04
LRISXIAY 7|sEZ 317,148 31,015 286,133 922.56
RoiMEE AldESAIY 5,373,263 4,070,139 1,303,124 32.02
LRIET| A7 2 AlE 50 X[ 24,472,000 22,071,850 2,400,150 10.87
LoIHESMET |2 2Y 694,624 648,400 46,224 713
Stifiuls =l ME2H 2IX[H 185,412 179,200 6,212 3.47
M7 | 7|2k XA LE| K oA A| 39,200 38,054 1,146 3.01
ol SEHR2EAIY 144,504 133,800 10,704 8.00
XM Zofel XEX|AMe 2 128,088 118,600 9,488 8.00
ol el X >y 2 118,584 109,800 8,784 8.00
HoAld M| ARIFZIC 2Y 52,748 48,840 3,908 8.00
x|FZohel HolAMR|AME 2 131600, 113,190 18410  16.26
HpZoffel o|SAH|A K[| 21,028 19,470 1,558 8.00
M7tEof el A S X =AY 60,297 55,830 4,467 8.00
ool SataEd 2Y 35,046 32,450 2,596 8.00
Zhof ol gt 3 AMEMIE 2 35,046 32,450 2,596 8.00
{1 Zol el Atz nsME 29 29,150 26,900 2,250 8.36
AlZtZho ol A ehatEal A2 Y 55,620 51,500 4,120 8.00
Zofielel & [ HH AL 40,000 35,000 5,000 14.29
BlIX|gole & AL 12,000 10,000 2,000 20.00
AEFOf el MEMNEA 2Y 32,400 30,000 2,400 8.00
ool =Hes XA 35,046 32,450 2,596 8.00
Zoll el o SFXIAMH|AALYE X[H 155,736 144,200 11,536 8.00
SESLITE 2l 2I7|HE Aol SAIY 33,372 30,900 2,472 8.00
ol HEstnsAl 21,600 20,000 1,600 8.00
ZoRIE2=T(7| Al2E] AlHME 2F 212,400 209,400 3,000 1.43
ool E==7(7| X[2 65,497 70,500 A5,003] A7.10
Zofiele|=zH| X[ 1,589,858 799,674 790,184 98.81




AP d i i e ok S
SEeHR KA 16,500 15,000 1,500 10.00
ZofFEH7 | ) 3,715,400 3,703,986 11,414 0.31
Zof e At S) 2,988,700 2,973,900 14,800 0.50
Zofelodizd 33,484,714 29,917,300 3,567,414 11.92
TR 52,140 59,250 A7.110] A12.00
O{MZElof ol WEK[HAFA 98,456 97,299 1,157 1.19
S0l KIZI A=K AL 270,517 266,820 3,697 1.39
SS3o el AIE A =hMlE 216,000 204,000 12,000 5.88
T Mol IEXME 2A 246,400 213,900 32,500 15.19
Zofel=ts K| FIIX[ A 476,543 385,119 91,424 23.74
Ztojols e A H|A 2,557,738 2,514,120 43,618 1.73
Zojots7tE AKX | 1,121,322 641,808 479,514 74.71
MO FE 2 KA A LUEtHIR X X2 34,579 8,576 26,003| 303.21
Srebrtof ol 2 M| AR X2 18,057 15,236 2,821 18.52
gebEof oI s FAIX| 100,000 80,000 20,000 25.00
LUEFEOfol Z2E74AH|A 2l AlEE X 50,525 34,400 16,125 46.88
T LR oI X[ RIME 2A 652,000 488,000 164,000 33.61
2o el XA 31,947,328 23,835,084 8,112,244 34.03
SHET FMofels|a HE 2,700,000 - 2,700,000 -
gebXbof ol 7|24 2 2 50,000 - 50,000 -
Ztofjoln} H|ztoffol #HAALHS| 4,000 - 4,000 -
o CIHTAIM T |SEL 197,063 369,923 N172,860 A46.73
oI HFTA|IE 2AX| A 34,347,111 33,836,872 510,239 1.51
7ol 2 ZEHfAHFTAIM X< 149,214 88,171 61,043 69.23
ZOfRUHTA|M E[AK} X HEF X2 46,000 25,600 20,400 79.69
HOHCIAHTAIE HAH ESEEH|S X 9,926 12,000 N2074] A17.28
SHET JMojelHelgs T A 193,096 190,140 2,956 1.55
A ZAIAIE B HAIA SO <) 62,400 - 62,400 -
oI HFAIA LED WX K| 92,075 - 92,075 -
grebrtof ol FZHets M 643,285 - 643,285 -
gtebztofol 22wl 56,000 - 56,000 -
sichxrofol wols SEA 415,829 T 415820 -
Ztof ol M A= Hhff Al A 2 164,410 161,470 2,940 1.82
2o el SX[LXIE| Al X[ 2,118,775 1,722,864 395,911 22.98
Zoffel dbed X2 | A 3,883,214 2,992,131 891,083 29.78




¥ o e [HAcolA| Huzy | BAE
(A (B) (C=A-B) | (C/Bx100
ool vkl IRial(AlZHH)AI X2l 644870  479577] 165293  34.47
AlZtEfoff el otofAL mpzd A 218,725 214,808 3,917 1.82
ZHof I & AR A T SEZ 350,899 2,058,392 21,707,493 A82.95
SEEfIMAZ AL V| SEZ 22,520 - 22,520 -
ZHof el U ZIPHE0| 7| K| HMEH 25 306,028 279,360 26,668 9.55
SRS 2Y 1,691,950 1,574,520 117,430 7.46
M7t=XSAME 29 169,470 151,650 17,820 11.75
Zhofelg Exof 2|ZE XIZF 220,000 - 220,000 -
Zhofel(FFe)M=sa 29 1,152,500 1,081,930 70,570 6.52
HALEA 2 29 144,510 135,384 9,126 6.74
SHSFT ZofeldEo|SX|d 249,123 232,288 16,835 7.25
SHEEL T SPMEH 2 295,500 235,880 59,620 25.28
SrebEbof ol 22X} A2 X T 62,147 - 62,147 -
SEPEf ol QLAESA HxE 207,141 - 207,141 -
LU SAL MEIH 27,461 - 27,461 -
LolAXZ] XA (= ™ 41,104 37,610 3,494 9.29
73 A 7}
A= A Hl 6.94%<%1 509 5,098%H FHH
7789 7,779+ St L,
- AlRAYE ZU e obesh 2e
< HAARA A FaAFE A4 TS S
(29l A, %)
o & [Adzold| slusgd | 242
a (A (B) (C=A-B) | (C/Bx100
S A2 M| A TR AL 3,210,087 3,893,488 A683,401 A17.55
Xeo| 2} s 7|sd=Et 3,690,000 1,040,000 2,650,000 254.81
Xeo|z @ olm ol XA 328,000 384,000 A56,000f A14.58
x| gt H dEst X[H 74,248 - 74,248 -
X AFAte| SRHHALSEIA 4,096,484 4,085,729 10,755 0.26
HAA 2 A 0] AA 111,600 46,925 64,675 137.83
2= | AL 1,439,941 1,414,480 25,461 1.80
=A |~ 5| 52,260 48,532 3,728 7.68




of o off &k |[HME LY HWEH | SHE

(A) (B) (C=A-B) |(C/Bx100)

Al XA 2| S4l AR EAME|A 2,365,728 2,197,020 168,708 7.68
MAESE SEAEAEME[A 284,472 285,505 A1,033] 2036
o|=o} & MEHo|Ltot o|2H| X[ 259,500 318,000 A58,500, A18.40
MHdAtol &t HAL & stolzkz] 135,000 256,500 A121,500] A47.37
Aot HE =T FIC 97,500 34,500 63,000 182.61
LI FF XA 52,050 184,500 A132,450] A71.79
RAREAAYE EZEel=dH| 35,400 42,450 AT7,050] A16.61
HAAME AMELE o|2H| X|H 19,800 40,500 A20,700] A51.11
negdLitE o|gH| X[ 115,500 192,000 AT76,500) A39.84
ME5E 7| M. =M E7 XHAMY 927,000 922,098 4,902 0.53
Aot a2 XA 2,441,000 1,397,700 1,043,300 74.64
AL HotAZ R K[HAL of K| 124,360 106,560 17,800 16.70
2ot Attt 29 1,000 - 1,000 -
2 =7[4ZT AY 1,679,499 871,088 808,411 92.80
Rleftdle X 180,000 167,572 12,428 7.42
LAY EX SXIX| 2| 200,000 70,000 130,000 185.71
2r2kkt 2| Z2H| X[ 1,326,439 935,139 391,300 41.84
A7 FAekA} 22| 89,193 67,614 21,579 31.91
o|l2goiradAL dut ALz 313,307 209,874 103,433 49.28
o|l2g0{radAt dRot HEAT 37,670 25,768 11,902 46.19
ol wEE HEHAH| X 11,575 8,109 3,466 42.74
BHL degd 827t S4(FMTP) 19,110 20,440 A1,330 A6.51
XA At=] AL Z=AL 428,245 370,251 57,994 15.66
XAtz ALZ=AL (2 SHAYEHY) 10,000 9,000 1,000 11.11
BHL FLEEAME MR 117,000 - 117,000 -
HAXZA B0l X|@ 225,089 203,180 21,909 10.78
28227 441,899 700,000 A258,101] A36.87
SR et ey XX sH] X & 28,286 72,000 A437714) A60.71
SEEX =2gH| X[ 125,400 158,500 A33,100, A20.88
F K| 2 2IXH 1,450,000 1,793,250 A343,250| £19.14
=2 F X XA 305,890 264,000 41,890 15.87
F x| T HESRZ 2F 46,292 77,000 A30,708] A239.88
ASHEEAY| Eg XE 12,591 24,450 A11,859] A48.50
HAHEEH 2HXH 66,400 76,700 210,300 A13.43
= 2HE| FX| X[ A ALY 1,080,000 720,000 360,000 50.00




4o odY  [HAcolAY| Husyd |48

(A) (B) (C=A-B) | (C/Bx100)

LU=QUT 2R C=AL S 2ZAH|A X 7,000 11,429 N4 4291 A3B.75
2otE A o2 2K X|/|(2F) 200,000 - 200,000 -
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